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Evoluta de la elipse.

Para la elipse

f(t) = (a cos t, b sen t)

Se tiene

f’(t) =(−a sen t , bcos t );   f’(t)  ∥ ∥ =√a ² sen ² t+b ² cos ² t

⊥f’(t) = (-b cos t , -a sen t) 

N (t )= 1

√a ² sen ² t+b ² cos ² t
(−b cos t ,−a sen t )

f’’(t) = (-a cos t , -b sen t)

De donde

κ (t )= 1
f’(t) ³ ∥ ∥

f’’(t) · f’(t)⊥ = 1

(a2 sen2 t+b2 cos2 t )
3

2

(ab cos2 t+ab sen2 t )  

Simplificando

κ (t )= ab

(a2 sen2 t+b2 cos2 t )
3

2

Para la ecuación de la evoluta queda

c (t )=(acos t , b sen t)+ a ² sen ² t+b ² cos ² t
ab

(−bcos t ,−a sen t )

c (t )=(a cos t –
(a ² sen ² t+b ²cos ² t )cos t

a
; b sen t−

(a ² sen ² t+b ² cos ² t )sen t
b )

A esta curva se le denomina astroide.
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